o v E A2 e—— - b
02144 B 02140 B

=
- ° 53]
oY 0 ° 0 <J0]0 SHPI =
4 ﬁ 1 2/ 3| 4,5 |6 ,7 |89 10/11[12|/13|14 1516 |17 |18|19 20|21 (22|23 |24|25|26| 27|28 | 29|30
A& BAlkIXxk XK€ £ BIAIX XKIXx &/ £[B/A XK KXK€&[£/B B X|XK ol
mpe | W R | WRY | . | THE | mBEES | RiERS HE | RRES
= RXE® iR [ B XiE® N s B
1] mAEmRae I IRES A i 3
5 E 1 2,/ 3| 4,567 |89 10/11[12|13 (1415|1617 18|19 |20 | 21|22 |23 |24|25|26| 27|28 | 29| 30| 31
:Iz:s H A X K| K| € £ B B|X K K Eﬁ +t B/A RIK K| & i\ B BIX KX &£ £ B A
- AR EFEGREE X HER S XiE EE S N =70 B
BRE | zzme HEe | DoW e BR® iy} BFE I R
BK AH Fig & 3 = % BB = = = !
6 H 1 2/ 3|4, 5|6 /,7|8|9 10/ 1112|1314 15|16 |17 18|19 |20 |21 (22|23 24|25 |26 | 27|28 |29 | 30
kK XK€/t BA/ kI Xk Ax/&/ £ BA kXK Xx|&/ £/B/AIXI XK K&/ B/ A XK
BB 89 BFRS FRGESRGER KiE snEERAERE) [P BRE REKRS
= LRl 215 RE i | [ kS [N A]]
R R B | i T ERE-Sy 78R @ (HiL) : 2R E: % H
7 ﬁ 1 2/ 3| 4,5 |67 |89 10/11[12|13 |14 |15|16 |17 18|19 |20 | 21|22 |23 |24|25|26|27|28| 29| 30| 31
Xl & £ B A XK XK £ |£|/BH|A 'k K K| €|+ B B XK & & !:I: B A X XK K & £
IMABEEE EBHEZ 11} W= BiAR=
BEE iime EEEY ) amLe TER | BE EfE e
= —go i H {5 i = PK fE E = BN B :? ]
8 H 1 2/ 3| 4,5 6,789  10/11[12|13 |14 15|16 |17 18|19 |20 | 21|22 |23 |24|25|26|27|28| 29| 30| 31
E|Hém*ﬁmiﬁaﬁMﬁ.*ﬁ':tﬁaHk**ﬁiaﬁﬁk**ﬁiﬁa ﬁﬁx
#=a| /NA HKE LNl INEIRER J
Epate i CL Wi mos | ERE [ FRO g mHe Lo
TAETE skze L 5 T) | WEMC | WA KL kiR me
95123456789101112131415161718192021222324252627282930
XK *mﬁ +| A Héﬁ XK KX & £ 8B A% g.* & £ B AKX K KX & £ B A X K K
Tl u HETSE & [ N A R E e e A A (e N mF E
EE Eil wE | @ Fgge | TR BRER g g



